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() sin0° = cos0° = tan 0°

© sin45° = cos45° = tan 45°
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aB sin x cos T tan =

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1,0724
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sin 43° = 110 o]BE x = 10 X sin43° = 10 x 0.682 = 6.82
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T sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724
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a= 20X cos47° = 13.642
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a3 sin z cos tan z
438° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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LA = 45° 0|11, sin45° = 210 O|EZ2 g = 20 x sin45° = 14.142




Zte sin cos tan
44 0.6947 0.7193 0.9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @6.947 ® 7.071
@ 9.567 ® 10.355

x =10 xsin44° = 10 X 0.6947 = 6.947
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53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1,43
56° 0.83 0.56 1.48
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